N = 0l & At & Ml A
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SN ST
BE: Gtac 22
el HII2XHe (REHAX2ANL B2 SHEA) CER-ED
SA-HH S (3A) - HPAY - BAES 0l &k o J1 & o Hlms2
St == 1t 2,450,821 2,830,821 380,000
ot 22 2,450,821 2,830,821 /380,000
HIOIEXMe(Z2H>MelAlE2e SE3 ) 2,450,821 2,830,821 A.380,000
He=XM2l&d 23 2,450,821 2,830,821 A 380,000
207 51 OH £ Hl 25,000 0 25,000
01 24| 25,000 0 25,000
O 2ZH+BLHZ QARG &
ESR=ges 25,000 0 25,000
307 glztol & 1,697,000 1,847,000 A 150,000
05 QIRt2E = 1,697,000 1,847,000 A 150,000
O He+=Xel& 2UAAE= 1,697,000 1,847,000 A 150,000
AEHI X2 b 167,567 416,567 A 249,000
01 A& HI 164,600 413,600 A 249,000
O Z¥H=ZT2xXcld 222 HHISAM 0 36,000 A 36,000
O RZU+BLHUT 242 NTS FXR
S WS A 0 27,000 A 27,000
O 2HHABLHZ HSUSE SI|E WSS
H WA S A 0 31,000 A 31,000
O RRH4SLHAZ HLLyLH B4DA 0 155,000 155,000
405 Tt FH S 3,500 9,500 26,000
01 AL ESFH SH 3,500 9,500 A 6,000
O ga0I2=30I 0 4,000 4,000
O gEA=TI) 0 2,000 A2,000




